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-3x(x=2y—-1) = Ax* + Bxy+Cx¥ W, A== A, B, C¢
o 22

® -6 @ -5 ® 0 @ 3

®)6

(=3x) X x + (=3x) X (—2y) 4 (-3x) x (-1)
= -3x2 + 6xy + 3x
ZA+B+C=(-3)+6+3=6




o AL A g2 A2 BE 2 /fR1A] otoleh
@ (-20°) x 5%y = =3x*y*
© —22xx 3y = —12xy
© xx(2x%)% = 2x°
@ (3x)? x (2x)% = 6x*
1 3 2 1593
@) JOIX Gy = Sy
> = kil
> ®e 37

© xx (2x3)% = 4x7
@ (3x)% x (2x)% = 36x*




© (2x)2 x (3x)%2 = 12x*

2
© (-6xy%) x §x2y = —4x3yt
@ -3%x x4y = —36xy

2 3
® §x2yz X §xyz2 = x3y213

@ 174 @ 27 ® 370 @47H ® 574

© (2x)% x (3x)? = 4x? x 9x? = 36x*




@ ab @ a®b ® 24%b @2(1172

® ab?

= 8425 + 20105 = da>b*




7.

8x—2y+2 =4dx-y-3 4 o, 2x - 3y + 1-Z x °f &3 4

e H?
D -10x+ 16 @)-10x-14
@ 10x-14 ® 10x-16

1

® 12x+ 16

o=

B

8x—2y+2=4x—-y-3,

y=8x—4x+2+3=4x+5

S2x—3y+1=2x-3(4x+5)+1
=2x-12x-15+1
=—-10x-14




Wma &2 IMB 9] 210 HlE 1GB 2t1 3teh. 7] 9dol7) 7kx] 1
S MP3 7} 1GB ©] §%& 9 4 9lrka 5H, 7] 9ol 4MB 9
wels 9l ge 4 qlieA Fatelet

= 7H

>
> "E D 25674

1GB & 1MB 2] 210 v} o]2 2 210\B o]t} 4MB &= 22 MB
OB 2 92 x x = 210,
x = 2% = 256
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10.

8a%h? % 2a%b + (~2a%b)* x 3a'b? & 74H3] 5}H?

® -3a%p? @ 3a2b? @—6a2b2
@ 64%b? ® -8a2%b>

B

8a?b? x 2a’b + (—2a*b)3 x 3a*b?
) x 3a*b?

1
— 212 2
= 84%0® x 2a bx<—8a6b3

= —6a%b?




